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K4 2E O FIE FCE% B Ah
WE A 3 9 1 11795 +5.3
H m=E 3 10 1 11799 +2.0
AR M 3 4 4 12”00 +3.5
X5 (EH 3 10 3 12718 +2.0
HE Imts 3 11 2 12727 +3.2
ER EAER 3 12 1 12728 +3.7
518 %8 3 12 2 12736 +3.7
=W |/ 3 11 3 12740 +3.2
AR K 2 13 1 12744 +3.6
INE R E 3 13 3 12764 +3.6
=5H KiE 2 14 A 12766 +2.7
&% B4& 2 17 1 12”75 +1.7
HR E 3 14 2 12784 +2.7
INE thER 3 15 2 12789 +2.5
AER B 2 17 2 12789 +1.7
FH 3 15 3 12792 +2.5
TE 'L 2 18 1 13703 +4.9
hit e 2 19 1 13704 +0.7
AH K 3 13 7 13712 +3.6
i B A 2 18 2 13716 +4.9
AT Bth 3 20 2 13724 +1.3
IR EBR 2 16 4 13726 +1.3
RIS &k 3 18 3 13727 +4.9
mE BN 2 16 5 13”30 +1.3
HE BEX 2 18 6 13”55 +4.9
it BEA 3 19 3 13”70 +0.7
ik EXBH 2 21 3 13”71 +3.0
FEO BRE 2 20 3 13”88 +1.3
INFR FDSE 2 19 5 14714 +0.7
K4 2HFE O EIE ROER

Bl RE 3 2 3 2'08”02

K4 2HFE O EIE b5

AK PRk 3 1 7 427723

K4 B2E O BEIE Lok 4

K ek 3 1 2 938”85

EH XH 2 1 8 10'06” 42

I g 2 1 9 10'06”83

& Ea 3 1 12 1012712

5i5 &£ 3 1 15 1023”04

TR RE 3 1 16 1024”19

H S 3 1 17 1024”51

IXH B 2 1 19 1030”79

#]mARA —F 3 1 20 1037734

Bl RE 3 1 22 1042732

ik £ 3 1 24 1044”15

EH FEAXER 3 1 28 1059”23

BA E 2 1 32 1104”82

I 2 1 34 1108”31

K4 B =g RC8%

AR -EH-KE-%E 2 4 46”20




